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Q4 Model Solution – 25 Marks Marking Notes 
(a)   
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Scale 15D (0, 5, 8, 12, 15) 
Low Partial Credit:  
	found	ݎ •
• ௡ܶ	of	a	GP	with	some	substitution	
	

Mid Partial Credit: 
• Inequality	in	݊	written	
	

High Partial Credit:  
• Inequality	in	݊	simplified	(log	handled)	
	

Full Credit:   
• Accept		݊ =12∙47		
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ܵஶ = 16 + 8√2 
 

 
Scale 10C (0, 5, 8, 10) 
Low Partial Credit:  
• length	of	one	side	of	new	square	
	

High Partial Credit:  
• ܵஶ	fully	substituted	
• Correct	work	with	one	side	only	
	

 

  


